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Example(1) :- Find the vector from the point m(-2,3) to the point n(1,-3) then find the
length of this vector?

Solution:-

mn = ai +bj

mn|=+a?+b? =/9+36 =/45
35




Examgleg 2) :- Find the vector from the point A(2,4,-1) to the point (-3,0,5) then find the
length of this vector?

Solution:-
ﬁ = (Xz _Xl);+(y2_y1)]+ (22_21) R
B =(-3-2)i +(0-4) j+ (5—-(-1)k

AB - (-3-2)i +(0-4) j+(5+Dk

(] K ) O S Jalaa pon i a sl Aniall Jgha Moy A3adla e

\/(Xz _X1)2;+(y2_y1)2 ]+ (22_21)2 k

JE5)7 +(-4) [+ (6)°K
J(=5)% + (~4)? + (6)’
=/25+16+36
7T
_ -5i-4]+6Kk

B \/ﬁ
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A =ai+hj+ck

—

B =a,i+b,] +C,K

A +B =(a +a,)i+(b,+b,) j+(c,+c,)K
A-B = (81 _az)i+ (bl_bz) j+ (Cl_CZ) k

-1 Als 2 iyl Ales -2

TR
b g e m olss A =ai +bj +ck

mA = mai +mbj +mck

Example(3):-




Solution:-

DA +B = A +B =(4+(-5)i+(-3+0)j +(-2+4)k
A+B =A+B =(4-5)i+(-3+0)j +(—2+4)k
A+B =-i-3j+2k

2)3C =-18j — 24k

4B =-20i +16k

3C —4B =(0—(-20)i +(—18—0) j+ (—24 — (+16)) k
3C —4B =(0+20)i+(-18-0) j+ (-24-16)k

3C —4B =20i-18j — 40k

3)|B|=ya%i+b’j +c’k

= J(=5)%i +(0)%  +(4)%k
:\/25+16
B|=41

4)|A +B|=\a%+b?j +c’k

= J(-1)%+(-3)*j +(4)°k
-J1+9+4

=14
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A=ai+a,j+ak
B =b,i+b,j +b.k
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[ A.B=a,b, +a,b, +a3b3]
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A=—-i+2]+Kk
B=:+j+2k
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Solution:-

1)
A=—i+2j+k

AB=-1+2+2=>AB =-1+4=3

2)

A8

AlB

Al=VED?+ @7 + 0 = A= I+ a1
=6

-J@ + @+ @7 = [B| = VL+1+4
-6

CoS @ =

CoS @ =

3 A1

J6*J6 B2 2

6 =cos™ 1
2

0 =60°
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Solution:-

1)
A=i-2j-2k
B =6i+3j +2k

AB=6-6-4=6-10=-4
2)

A|=JF +(-2)° +(-2)? > V1+4+4
Al=+9=3
g‘ \/() +(3)*+(2)* = J/36+9+4
| —7

COSQ:LB:
AllB]

ezcos‘lizezcos‘l 4 _ 4
AlB] 3*7 21

0 =101
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ai+bij +ck
B=ai+h,j+c,k
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AxB =la, b, ¢,
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AxB =‘ATHI§‘sin9
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A=3i—-2j
B =-i+3j -4k
. (AXB),AB asidisaa g & (AXB) 2
i j k
3 2 0
-1 3 -4
AxB =(8-0)i—(-12-0) j+ (9-2)k
AxB =8i+12j + 7k
AxB
U=7——
AxB|
\XB|=/(8)" +(12)* +(7)?
= /64 +144 + 49

2 o
3

257
8i+12) +7k 8

R
= [+ +—
\ J257 J257 /257 : J257

K

xB
B

U=—
A

A=) +(-2)* =9 +4 =13
3i-2j 3

Rl

u=
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A=2i+2j -k
B=i—j-k

AB 0o dS e Lagee osSy3aa gania aa

Solution:-

i j ok
2 2 -1
1 -1 -1
AXB =(-2-1i—(-2—(-1)j +(-2-2)k
AXB =(—2-Di—(-2+1)j +(-2-2)k
AXB =-3i+j —4k

AxB

‘le??‘

= (-3 + () + (-4
=9+1+16
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-1 1 -1
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